DFCCIL P 2ar Paper

Jr. Exec_utive Paper
Electrical



https://www.testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN

=

s e Pris
IParticipant ID
Participant Name
Test Center Name
Test Date 28/09/2021
Test Time 12:30 PM - 2:30 PM
Subject Junior Executive (Electrical)

Dedlicated Freight Corridor Corporation of India Ltd.

A Government of India (Ministry of Railways) Enterprise

Section : General Knowledge

Ans o 1.1950
X 2.1948
X 3.1949
X 4.1951

Q.1 ¥Ra # gt smatn # Tofia gam am

Question ID : 2752289700
Status : Not Answered
Chosen Option : --

Ans X 1. &ER e
< 2. AfAem arR
< 3. 11 3R

o 4. SO R

Q.2 ‘dR ¥ 2 397 ¢S Ych oh odh i 82

Question ID : 2752289704
Status : Not Answered
Chosen Option : --

Ans X 1. gHAAEE
X 2. w4
o 3. HOTEEH
X 4. gieresr

Q.3 frE 172021 & ST 20 T Y Aigerd & A1E &S ht THTE o T &2

Question ID : 2752289707
Status : Not Answered
Chosen Option : --




Q.4 3eie Tee forg o & urRa famar mam ur?
Ans X 1.1913

X 2.1915
o 3.1919
x 4.1917

Question ID : 2752289702
Status : Answered
Chosen Option: 3

Q.5 AcTAASATRERR ______ & forg Ram sman @1
Ans X 1. Qo Iuafedat

X 2. IPE TFARIRAT

o 3. AT Tar

X 4 s afe

Question ID : 2752289703
Status : Answered
Chosen Option: 3

Q.6 2022 FHiwr ey ey HY A i 41 227 FIIM?
Ans X 1.9mf

o 2. FR
X 3. cfeor sifan
X 4. e

Question ID : 2752289710
Status : Not Answered
Chosen Option : --

Q.7 fewieR 2020 #, forg wRea w5g A '9R St Aifa 2021' 6 givon Hir @2
Ans X 1.9

X 2. ufgm §me
o 3. ToRE
X 4IRS

Question ID : 2752289708
Status : Answered
Chosen Option: 3




Q.8 T fF=faf@a d @ wla argm ad 82
1. 3itfaeft - geff wra
Il. Y - IR 9RA

Ans X 1.Fadll
X2 amgagl
o 3. 1aAIEA
X 4. Fad|

Question ID : 2752289699
Status : Answered
Chosen Option: 3

Q.9 ___ ue 3wl sieddiy UggR o= # g Sier g1
Ans X 1. der

25 2. graE

X 3.a8

o 4. 3™

Question ID : 2752289701
Status : Not Answered
Chosen Option : --

Q.10 ‘T faifew geh SiTth TreiwTde’ U¥ich & ideh i 82
Ans o 1. Ears ar

X 2. 7 srrer

75 3. IRV AR

X 4. T areroft

Question ID : 2752289705
Status : Not Answered
Chosen Option : --

Q.11 & & # 3= I 7 ‘TS TR fI WA GRS &1
Ans X 1.3fgq emf

X 2.9 AR

o 3. T Herf

X 4. e TH AR

Question ID : 2752289706
Status : Not Answered
Chosen Option : --




Q.12 WRdta S $t aredt s P § @ fea @ w@fda &2
Ans X 1.%d gRad & emeR R fARgar

o 2. TGt Y 1R, TR SR SRR

X 3. TRUTfereRTSH, Snfe <t arfehar, TR iR SRR

X 4. T

Question ID : 2752289709
Status : Not Answered

Chosen Option : --

Section : Numerical ability

Q.1 J 3rchet Gop o @Rt 7.5 T A gr1 e Hehell @1 K a7 L fArerens 3+t ol @t 5 1 & g1 e wendd
&1 J, K a1 L Aerer 3 ot aht foha=t Rt & qrr avd?

Ans X 1.5f=
o 2.31F
K 3.45f=
K 4efa

Question ID : 2752289718
Status : Answered
Chosen Option : 2

@2 afy P2 = Q6 = R/8, AT R +PR: (P+Q): (Q+ RP FT AT T &7
Ans o 1.25:16:49
25 2.36:16:64
5 3.49:16:64
X 4.49:36:16

Question ID : 2752289715
Status : Answered
Chosen Option: 1

Q.3 af} g g it ulRf 44 |.50. g, at sl sar &2
Ans X 1.2234

o 2. 735

X 3,149

X 4. 53

Question ID : 2752289719
Status : Answered
Chosen Option : 2




Q.4 HR27 37Ut 3 o1 70 ufarera @ e At &1 afy s s | 20 ufasra i gfS gt & awr ey
# off 10 ufaera i i ght 2, at STH w=ra & forem ufaze 6 g ghfi?

Ans X 1.45.3ufasra
o 2. 43.3 ufaRE
X 3.48.4 yfasa
X 4.52.2 yfasrd

Question ID : 2752289713
Status : Answered
Chosen Option : 2

Q.5 U g¥ AT 40 FUd ufd e &Y &R & 50 +fiex g @dear g o1 3§+ 10 #iex ur (urft g
?) fae 2ar 21 afe ag 39 Mot ot 50 $UA ufa +fex &Y &= @ dr=rar §, &t «iry ufaee aar &2

Ans o 1. 50 OfasE
< 2.33.33 ufaea
< 3. 60 ufderd
X 4. 40 ufaera

Question ID : 2752289714
Status : Answered
Chosen Option: 1

Q.6 == fmm may aré =é 91 whe A, B, C, D, E, F U1 G & B Y Tt f@rar 1 39 9t aia
Thell A Get STAT Y W1 63000 21 Geh fAfAe Thet A ST i e ot 371 9t ara whel & e
e & ufderd & wu F Ramar mar &1

ik
&\

FafofEa 9 @ &9 w1/8 Fu= adt 8/8?
I. Tet A § BTl Y T 1 Thel F H STHT Y S 9 igura 9:: 8 8
Il. & A & STH1 &l a1 whed C | Bl hl et § 1890 31fda g1

Ans X 1.arg el
X 2. Fadll
o 3. 1alET
< 4. Fad |

Question ID : 2752289720
Status : Answered
Chosen Option: 3




Q.7 U ufA U 40 ufazra ufaad fi &= & 2 aut & Tehqfs et (arftfe Saie &) aur AR s
o off=r opT SfaR 2400 TUA 1 1A |7 8?7

Ans X 1.18000 30
& 2.15000 373
< 3.17500 39
< 4.20000 35&

Question ID : 2752289716
Status : Answered
Chosen Option : 2

Q.8 45 ofegl fi eftwa Fard 157 Q.. &1 163 /.. ofiwa Fard areht o ofeaf R of st &1
afe 75 oftaa arg 153 @+, g, at fra sfeaf ai g &2

Ans o 1.27
5 2.16
< 3.28
X 4.18

Question ID : 2752289712
Status : Answered
Chosen Option : 4

Q.9 = fear mar ¥ar R 2008 | 2013 Tk & auf A foreft T WR A aret eafwral fY TEa &t
zfar g1

3000

800

2008 2009 (2010 2011 2012 2013

Aafaf@a d & o= a1/ Fu= adt 8/8?
1. 2008, 2010 9T 2011 & Y 7T TUTF TR S aret aafwhal &t i d=ar 2500 21
11. 2008 # 3= aTet AfeRal Y Heeam 1 2013 F 31 aret efhal Fi Hear § shAsr: SrguTa 4: 9

gl

Ans X 1.&adll
XK 2.agtlasi
o 3. Faa |
XA laulaw

Question ID : 2752289722
Status : Answered
Chosen Option : 3




Q.10 = far war gvs R fed e aut A AT ik wem 7 g wicst & ol 6 e @t g2rfar g

45 4800
i 4200

g

3500 100 3200

2100
10 1600

1200 I
I :

I T T T
2004 2005 2006 2007 2008
O faaa @ &ar

fAfafaa d @ a9 91/@ = a8 8/8?
1. 2005 & 2006 @k BT Y Fel HeEaT 7 ufara g 12.28 ufaea &1
1. s & o Y sftad T o1 et # STH1 6l SiiHa Hea @ srgure 202 : 97 g1

Ans X 1.argtlarerll
o 2. 13uTllaA
X 3. Fadll
X 4. Fad |

Question ID : 2752289721
Status : Answered
Chosen Option : 2

Q.11 TfE Teh T=aT AT 7/5, 56 &, A S TEAT T ST T gRIT?
Ans o 1.20

X 2.25

< 3.36

X 4.40

Question ID : 2752289711
Status : Answered
Chosen Option: 1

Q.12 ¥ 8 5.+ /der i nfa @ =rerat gQ gk FAfSa 5@t & 6 w2 30 e @ au owar 81 af ag aw =
) Arafhet gRT 4 © & a9 ohwar §, | arsfehe R 3w i vl T @2

Ans o 1. 13 AL/ Ee
X 2. 14 f5 A /ge
X 3.16 fon.Ht /e
X 411 R /e

Question ID : 2752289717
Status : Answered
Chosen Option: 1

Section : General Aptitude or Reasoning




Q.1 Ry g &t Rigl aur gt TEnedl ol U § RER T & ugyE, A 7y aefierzor & A= @
ghm?
xqUT+, 12 dAT 15
12+47+16-15+12%x6+42x7=2?

Ans X 1.753
 2.743
X 3.763
X 4.733

Question ID : 2752289736
Status : Answered
Chosen Option : 2

Q.2 ueh fafre &l vmar #, ‘He is my friend’ ht ‘Bo Uv Zs Mn'’ for@r STrar &, ‘This is my dog’ &t ‘Zs
Pt Uv Ga’ forar S &, ‘He is your son’ @t ‘Bo Uv Ex Yz’ foram STrar @1 39 &l 9T & ‘Your
son is my friend’ =T i< T &2

Ans X 1.UvZsYzMnBo
2 2.ZsMnExBo Yz
25 3.MnExUvYzGa
o 4.Uv Yz Zs Mn Ex

Question ID : 2752289729
Status : Answered
Chosen Option : 4

Q.3 U 31Iehd o man 8, e @ uah ug g 81 g g et 7 | ag Tdl fReew g, it
STIsRH T GRT 1|
T9, V13, X17, Z21, B25, ?

Ans X 1.D30
x 2.E29
& 3.D29
* 4.E30

Question ID : 2752289723
Status : Answered
Chosen Option: 3

Q.4 F=fef@a usr #, sieri &1 e aqg fear mar 81 U ag & sier It uqg & orari & @1y
fora adh/From/sy @ e 81 A 7o fAeeal # @ s1erl wf v w9g «t gfAg it 39 adh/
frm/<sier 1 SIgERUT FHRAT Bt
(MN, PK, SH)

Ans X 1.(RF UC, WZ)

X 2.(CD,FA, IW)
X 3.(VU, YR, AO)

o 4. (IC, LZ, OW)

Question ID : 2752289726
Status : Answered
Chosen Option : 2




Q.5 U IIehA far o &, R @ uah ug e 81 Ry g et # 9 39 wera ug & gfAw
2,3,7,15,32,57

Ans X 1.57
X 2.32
K 3.7
o 4.15

Question ID : 2752289735
Status : Answered
Chosen Option : 2

Q.6 fohaA witamge, fohars A &2

Ans X 1.59
X 2.67
o 3.61
X 4.43

Question ID : 2752289738
Status : Answered
Chosen Option : 4

Q.7 fFA=faf@e v d Ry g Rereat | fRAvd ez 1 gfAg)
Ans X 1.9

X 2. s

X 3. St

o 4. TR

Question ID : 2752289725
Status : Answered
Chosen Option : 4

Q.8 U fafdre shte wma A, ‘NET’ &6l ‘78’ for@r it &, ‘'SUM' &kt “106’ forat Sitar @1 39 hts urar &
‘DOOR’ <hT hiS T &2

Ans X 1.88
% 2.110
o 3.104
X 4.116

Question ID : 2752289728
Status : Answered
Chosen Option: 3




Q.9 fF=fofda usr & & € sjwen d @ g ik aa FifAQ)
15, 21, 28, 36, 2, 55

Ans X 1.46
& 2.45
X 3.44
X 4.43

Question ID : 2752289734
Status : Answered
Chosen Option : 2

Q.10 U fafare sis v &, ‘M’ <Rl 13’ forar STmaT @, ‘BOOK’ &kt ‘43’ forar Sirar 21 39 &hils wmar &
‘NEST’ <1 hiS T &7

Ans X 1.48
& 2.58
7 3.56
X 4.47

QuestionID : 2752289727
Status : Answered
Chosen Option : 2

Q.11 F=faf@a usr & g 7o fRereat & 9 usr Reg (?) & T R 4 arefl @ &t gfag)
9 117 8 | 208
8 | 21 |10 | 29D
17| 6 5 2

Ans o 1.115
< 2.105
< 3.135
X 4.125

Question ID : 2752289737
Status : Answered
Chosen Option: 1




Q.12 (::) & arff oz & meft &t srrepferat freht adh/fromy/ddy @ aifa 81 R M fAred @ (1) &

Ans

arff ik o a<h/Fram/ssy wR saRe g siefa ot g

O ) A
1 o || o ?
+ + =
o |
o 1. A
o
x 2.
x 3.
A
K4 =
o

Question ID : 2752289739
Status : Answered
Chosen Option: 1

Q.13 2 fg g vz F o Fu= 3R I a1E I HYAT WR eRe Fe fAsrd g o g1 ke g
HYAT B TE AR, A1 ITH AT A9 a2t S fR=ar gh ft A o e fo RuffRa 2 6

Ans

g g = & fAsd, g g sl & sy wR gfthea &1

<hY-:
1. goft &, st &1
11. &YE oft ereT, reT TS &1

frse:

1. &1 oft fie, shrem TS &1
Il. 5 @1, fidt 78 81
. = i, et 71 &)

o 1. Fhaet s |11 ST e 8
< 2. ST e || e |11 SIgEReT ahed §
25 3. T Rt | 2T 111 SIgERoT ahed §
X 4. Fad Femy || STER0T el &

Question ID : 2752289733
Status : Answered
Chosen Option: 3




Q.14 s aAfw A, B, C, D, E, F, G 4T H Uah gAThR A5T & 3&-MiE dhg it o1k 737 aedh dod & (S
Tl Fr sft sFr A @)1 G, H & arfl 1R AR T= R doar 21 A 991 G & fiar & gah aafwh daar 21
D, F & i 3R g8 T WR &1 &1 B a1 D, A & uSIHl gl g1 C, E & IRl 3R fieR T wR
a1 21 B au1 D & ot # €t =afvh a5a &1 F, C a1 usii gl 81
fafafea d 9 a9 91/@ wu= 9 2/2?
1. A aur D & ot & ues etk dsar g1
II. D, G & g¥a arff 3R daar 81
lll. C AT H & i d <Y aufes daa &1
IV. F, E & gRIT 3R g&R ¥ R daat gl

Ans o 1. Il TUTIV
K 2.0, nauriv
X 3. laarli
XA laarin

Question ID : 2752289732
Status : Answered
Chosen Option : 1

Q.15 oI i IR STepfa ust stpfar & wfaey &l grT ahvfi?

Ans J\
<. Q/
xo /00

il
VAN
Ko
T
&~ 4. .\<>

Question ID : 2752289740
Status : Answered
Chosen Option: 3




Q.16 Tk fafye sis wmar &, ‘COMPLETION’ <R} ‘TTMWGRUQRE' for@t Sirar &1 39 i€ urem &
‘ARITHMETIC' <A RS <RIT 87

Ans X 1.INXHOMYNUC
£ 2. IMXHONYMUC
« 3. INXHONYMUC
5 4. IMXHOMYMUC

Question ID : 2752289730
Status : Answered
Chosen Option : 3

Q.17 f=faf@e 2real it reeenler & o aret shv & SR o |

1. Macaque
2. Macomas
3. Macumba
4. Macrame
5. Macrons

Ans o 1.12453
X 2.14523
X 3.12543
X 4.12345

Question ID : 2752289724
Status : Answered
Chosen Option : 1

Q.18 P+Q w3 'R QArATaATE, ‘P * Q a1 312f ‘B, Q ;1 AT &', ‘P @ Q’ a1 312f ‘P, Q a1 W &' a2t
‘P # Q opr1 31ef ‘P, Q il 781 &1 FrAfei@a & & ki a1 faehed M &Y N o1 g1 Z2rfar 22

Ans & 1T.M*L@Z*R@N
X2M@L*Z#R@N
X3M*L@Z@R#N
XAM*L@Z#R@N

Question ID : 2752289731
Status : Answered
Chosen Option : 1

Section : Gen Sc

Q.1 fAfef@a d @ &4 @t &dfte 59+ §i g e 22
1. A==
II. Fepet

Ans X 1.laatllg=

o 2. %had |
K3 agiagn
X 4. Fadll

Question ID : 2752289756
Status : Answered
Chosen Option : 1




Q.2 f=fafaa d @ &= a1 fia Sdaw &1 e uaR &2
1. amfEa
II. 1fdah

Ans o 1. 1TTIlEH
X2 amgiagl
X 3. Faa |l
X 4 Fad|

Question ID : 2752289757
Status : Answered
Chosen Option : 3

Q.3 FguAdaiwrfRfmasadR _____ dgargl
Ans X 1.30H

25 2. AU

o 3. IS

X 4.%us

Question ID : 2752289753
Status : Not Answered
Chosen Option : --

Q.4 forelt shem A Iufeda sifdhaw seiaer=l i d=n_____ gr1 & @it @1
Ans X 1.4n?

X 2.2n

q¢3‘2n2

/X 4.4n

Question ID : 2752289749
Status : Answered
Chosen Option: 3

Q.5 W ____ o+ ufa Sehe & o1fdes srgf Y wafat ama & g 8 gl
Ans 2 1.12000

< 2.18000

% 3.15000

o 4.20000

Question ID : 2752289742
Status : Answered
Chosen Option : 4




Q.6 F=faf@d d Q&= o gw ad 82
1. 391 A9 - AfNEH
1. 3TeTe 9 — SO

Ans X 1.Fad |
X2 amgagl
X 3.daall
o 4 lTANET

Question ID : 2752289743
Status : Answered
Chosen Option: 4

Q.7 HgdFa= &R 3 glar gl
Ans X 1.dicHser

75 2. hds
o 3. i
X 4. faumog

Question ID : 2752289754
Status : Not Answered
Chosen Option : --

Q.8 HeFpHFAM_____ I o g7 UR &idl b1 &19 URH gl STt 8
Ans X 1.35

o 2.55

X375

X 4.105

Question ID : 2752289750
Status : Answered
Chosen Option: 1

Q.9 HYA & =AY Afed & e d AmffR@a d d s arad @2
. U=HTY] &= ST M a1 o1 g & SR Feiae I9H o9 gl 8l
1. u=TY] degefta = @ SerfiA g gl

Ans X 1.argtlargrll
X 2. Fawll
< 3. %had |
o 4. 1TUTIIEH

Question ID : 2752289752
Status : Answered
Chosen Option : 2




Q.10 AR Gethe srefgsge &t oft shgt STTe 21
Ans X 1. AR oeeR

75 2. 3f grer
o 3. TR 3T URY
X 4 T Ote

Question ID : 2752289751
Status : Answered
Chosen Option: 3

Q.11 fA=faf@da & @ i 91 ST AR T Teh IR 87
1. T

1. HeagA
11. fafeRzor

Ans X 1.1@lil
& 2.1, il
XK 3. @
X 4 1au

Question ID : 2752289747
Status : Answered
Chosen Option : 2

Q.12 f=fafEa & & &= a1 g urpfas gaw 8?2
1. forems

I gt
lll. TS&<T & T
Ans X 1.1durlll

X 2. 1aull
& 3. 1naaril
F NSl

Question ID : 2752289748
Status : Answered
Chosen Option: 3

Q.13 g _____ @ qof ured s U« gl
I. g1
1. mé=

Ans X 1.Fad|
o 2. 1T NEA
K 3. daall
XA mgiagl

Question ID : 2752289758
Status : Answered
Chosen Option : 1




Q.14 F=fafEa & @ &= ar nfa & Jdia Faw R asg @ giard?
1. Sigeh R AR ufaafa s«
I1. TifaeR & 31wt Y 3R e i FFafa & =ra fid it sk nfy e

Ans X 1.Fadll
X 2.%ad|
X os.agtiagi
o 4 lTANET

Question ID : 2752289745
Status : Answered
Chosen Option : 4

Q.15 In humans, which of the following joint is present in elbow?
Ans X 1.Pivotal Joint

" 2. Hinge Joint
#< 3. Fixed Joint
75 4. Ball and Socket Join

QuestionID : 2752289755
Status : Answered
Chosen Option : 4

_— == = ==

Q.16 ‘g’ T HIF AT &7
Ans X 1.12.87%./82

o 2.9.8 71 /82

2 3.10.8 t./@2

X 488 /@2

Question ID : 2752289744
Status : Answered
Chosen Option : 2
s

Q.17 fA=faf@da d & wis a1 gvfor & FRoT gar 82
1. Spail & a<t forg wire &
1. graf Y wred R g 7t ergva Ra @

Ans X 1.Fadll
X2 amgiagl
o 3. laurllas
X 4 Faw|

Question ID : 2752289746
Status : Answered
Chosen Option: 3




Q.18 St a¥qq G Y &g T WeRIRT T IS hed! § Sa fis wga &I
Ans X 1. URaEx

< 2. RGN
o 3.4
& 4. arRaTeRt

Question ID : 2752289741
Status : Answered
Chosen Option: 3

Section : Domain Knowledge

¥ Srafae F @ F#iF @ TTL 3u==t ¥ gefg a8 2
Ans X 1. 74'.

X2 74ALS

X3 54

v 4 T4A

Question ID : 2752289769
Status : Not Answered
Chosen Option : --

@2 A Zefr T qUMST FT HSROT Fold FAT ZI?

—AAN T
R L
Vit) C == Vol
Ans 1
o 1

" (LCs? + RCs+ 1)

X2 RCs?4+LCs+1
1
"(RCsZ+LCs + 1)

X4 LCs?+RCs+1

<3

Question ID : 2752289799
Status : Not Answered
Chosen Option : --




Q.3 =@ g Ul @ ety fig @ g Swe Rea-T ST sew Seida saew gERr gl
T 87
G(s)H(s) =

Ans X1.1
X2 =2

K
s?(s+ 1)

X3 =

4 0

Question ID : 2752289794
Status : Not Answered
Chosen Option : --

U st ERa F __ www siwd ofed st e @ g
ans T 9

X 2. ifaT; @

x s WA, o=

X 4. UFH; LT

Question ID : 2752289808
Status : Not Answered
Chosen Option : --

¥ Ru v K-AwRr & T @l see e w7 g

Are X1 AC+ AD+B.C
2 A.C+ AD+AB.C
X3 AB+ AD+AC
X4 AC+AB

Question ID : 2752289770
Status : Not Answered
Chosen Option : --




Q6 Rr v Rt & ¥ FiF O Reer PrafRild oo gaT & &9 § giar mar 37

9.55 (3m3eqe/ N), =@t N, rpom & &
Ans X 1. 99T EMF

X 2 fSrepdd G&fel

X3 HTHER semer

v ¢ O (SIMFE) ST

Question ID : 2752289805
Status : Answered
Chosen Option : 3

7 v TARAAT HaFew & e guff e FEEr s
Ans . -
X 2. §OT HTEOT
X o ST

X4 fEger

a— g

Question ID : 2752289800
Status : Answered
Chosen Option: 1

8 amE F waw s Rege O (AT TR SEe) AR 5 ogs

Ans *x 1. F('R}ET
X2 e
v 5 BEETE

X4.‘:IT-ITIT-L

Question ID : 2752289787
Status : Not Answered

Chosen Option : --




Y Pr=faf@a & @ 9 AC wafRed & smor adf 87

LIPS S—
x 2 TFT afed s # suaer & S S
X 3. aify faTaoT 3t Tae & v s g
X4 Iy e

Question ID : 2752289796
Status : Answered
Chosen Option : 3

¥ (2F.C4),, T FHoeTUTY (3ifreer) THGST FAT EI?
Ans 1 (44.37),

v2 (57.61),

X3 (27.19),

X 4 (6342),

Question ID : 2752289768
Status : Answered
Chosen Option: 3

Q11 g v & DC S (SWiER) & & G5+ &1 U 6T AR Foet & T@er FAed 57 & g §
el gErT s Svfee # giar 87

Ans K1--°;|'Eﬂ'
X2 FEaT ®F ¥ G
X3 g
v 4 WgFS

Question ID : 2752289803
Status : Answered
Chosen Option: 4




Q12 v 447 zafafam (z@fomtes) s 150 MVA, 14 kV 3R 60 Hz =& @eifa frar smar 31 509 S5
fri 12 MUMVA 1 3 60 MW ¥ Fis % e afe (ame) & Bl (s71e) #1 s 80 MW
T Fer fe@m o g, & gt (@) % SEer & gt (elect — deg/sec’ TeT) EHTII

Ans X1.132
X2 108
3 120
X4.123

Question ID : 2752289789

Status : Not Answered

Chosen Option : --
OB s 9UT TR W, A T F T g 9T g &

Ans w120 kV - 25 kV
X2 5 kV -10 kV
X3.100 kV - 150 kV
X415 kV - 20 kV

Question ID : 2752289775
Status : Not Answered
Chosen Option : --

Q14 gfager R % v 9 # EMF @i E & Sier oiar &1 sfakies & gariea s @ — at—bi? &

& # gEg W T 1 o F afg Fsa GEN
Ans 3
x1 DR
3a
3
x2 IR
ba
a*R
w3
6h
=
s TR
3b

Question ID : 2752289760
Status : Not Answered
Chosen Option : --




*® o CD JFET R &, o, =~ & ar

qm
Ans R
. AV _ net
Tﬂ E 3 Rngt
R
x 2. qu _ net
To

X3 >R, ® w4 =1
X4 1, ~R FRTA, =0

Question ID : 2752289776
Status : Not Answered
Chosen Option : --

Q.16 Trafafad # & &9 @ v 3t IONET (FESER) H S St #0 Sie H gEiad a9 a8t ar
T 27

Ans X 1. TET
X2 =T
X 3 3FFATT (TFeT-29T) TR
& 4 SEHIUTT

Question ID : 2752289807
Status : Answered
Chosen Option: 4

Q.17 ve F=ard sEry (=T9T) & 200 V FT 10T 331 A6 &1 aefieeT & 9o §9T 200 ps ¥ e
=eTE R (3ETE) 600 V §1 IR Feree @ amgea @ TR @ I § R o wiw A oamr
&< fear ST &, o 7w eI (amEege) dieds Fa g

Ans X1 600 FreeT
v 2 300 e
X3 400 Feeq
X4 200 Sreed

Question ID : 2752289781
Status : Not Answered
Chosen Option : --




Q.18 #rr & ¢ Mg TE-aRmRE FafE UPS YUl & UF WS 3N (sl 2Ens) F HEhg &1
F AT w4 7

TE (solih) A

A X1 LC TreTEs (Rreed)

x 3. Pl fagses (WE)
v 4 PWM 9iaafaT (57a3)

Question ID : 2752289779
Status : Answered
Chosen Option : 4

P s o @ ¥ w7 & gfenia fFar s g
Ans ﬁ: ?:H?T
FAEAATAS

qunﬁr@raaﬁ:mm

T e Jomel eTHar

HIET AT H HIIT

mﬁaﬁmmﬁmﬁm

IcaTfed STEdiaes Sl

T reraH o= e

x4

]

Question ID : 2752289783
Status : Answered
Chosen Option : 1




2 i wUT FT TS FL

e 1><+<\1f}cmqt, GaAs F solagial & 377 Si # selagidl & 97 ¥ FH 2 ¢
. GaAs 3 sl @1 49T @Y # seEET & 4T W = @ B
11‘3fcm W, GaAs & gl & 391, Si & B & 397 ¥ F7 T B
1xkt*fcm o7, A F B # T, Si F Bl F A9 @ w4 gar B

Question ID : 2752289773
Status : Answered
Chosen Option: 1

W ofy Peafafe deodw & a7 gheot # Bela wr §

A.Vxﬁ=@+]
at
B.VXE=2
it at
C.VvB=0
D.V.D=p
an,

e v A CHERDEEE
X2 Fae C 3T D wdr
X3 gt A, B, C, D HEr g
X4 aer B WEr &

Question ID : 2752289764
Status : Not Answered
Chosen Option : --

02 Crafefe & ¥ Y St wumer 1 Aftass (3) @ S 87
Ans 1. TEERE

X2 fror S (ST )

+ 3. CPU

X4 FAY

Question ID : 2752289771
Status : Answered
Chosen Option : 3




OB Goafafea # & #i9 @ Reew v ahE B (R @ e a8
A X T Aerad (FEEEET) F B 9@ 2t
X2 frase yAEs (Rase die=)
v 3 7Y s (T TEeR)
X 4 Semrar 7 gAe o

Question ID : 2752289792
Status : Answered
Chosen Option : 2

Q.24 o5 vowr EMF 39S Sees & F TR g &, o A R et mee b o
siftrras g §1

Ans x 1. Eﬁ-?

% 2.2

3

X 3.

o 4

Question ID : 2752289804
Status : Answered
Chosen Option : 4

Q2 grodoer guTiE F O & SEARIET # O FiF O FUF Ted 87
Ans X 1.
TTRETY WTET GFRT 3caifed VArs, Sees & ke & oy g 2

< 2.
SRy FTRET FT FIURT TeeAT i T aiRwell & forw frar e 7

X3
ST9ET TSN #1 39ART deesl & A # aA1C @ & [0 3aems iaurd afed @ i &g
T s &

o 4
IETY FEIRT See @1 AT Sede 9 W F s w & o aRedt sfeenn s o siew g #)

Question ID : 2752289786
Status : Answered
Chosen Option : 3




Q26 Srafaf@a § ¥ Fi7 o Fua UF ey THFUHE yaeE ¥ R wd ad 32
ko e (3ETR) R gFT A B

v faffa (3mseqe) wferiy =g g 2
x 3. Tafese (zage) sfertyr 3a g B
X 4. afer g 2 g

Question ID : 2752289767
Status : Answered
Chosen Option : 2

Q.27 gfy [, wifae anr ¥ 3R 7, SRy SfeEnr &, a #ifee e gus T auer -
# I T B

Ans . Iczo

]

CZD

2.
x3 1.Z,

X 4

Question ID : 2752289788
Status : Not Answered
Chosen Option : --

Q28 15 fafawia g ao @1 AT A 100 mm § 3N FEHT HEIET FET HTHET 500 mm? |
ToT F 600 TAT H FE ¥ T IRAWT 0.8 A Fr e Fafeat F warfem @ &, & 4000
#r AR TEETAT BT SIS §1 99 4R F 60 ms F ¥ 9% FHF T f&ar S g ar
9fta EMF (s1eTereT) 7 giem?

Ans X1 =27 V
X227V
3 -38 V
X4 38V

Question ID : 2752289762
Status : Not Answered
Chosen Option : --




029 Rrafafa & @ Sl &1 Fua dga-aer TR0 qomeh & e F @i ad 22

A X smE waTe @ 3= d3fy B ¥
aféﬁﬁ(ﬁ@mm#mﬁﬁ%mm%ﬁwﬁwﬁmmmm
3.
%m(ﬁ@)mm%wmmmm%l
g—mwﬁ*gﬁtmm(ﬂ%ﬁmm%mmﬂﬁ@?ﬁﬁl

Question ID : 2752289791
Status : Not Answered
Chosen Option : --

Q30 Sofafes F ¥ #lF & Ry e aRonfEs (gEwE) ¥ G e ad 3
A v ORI F 9 Erear B £

X2 FEoAT F FE HHT GfeRrer A& @ g
X 3.
s g R P W A uEe: O St g A B

x 1. g @ e evor 7@ g B

Question ID : 2752289806
Status : Answered
Chosen Option: 1

Q.31 FT 2 2 TDT z %_[
(z—=)

Ans X 1. au(n)
X2 a "u(n)
X3 a~lu(n)

¢ 4 a*u(n)

Question ID : 2752289815
Status : Not Answered
Chosen Option : --




Q.32 TP TR R 4= 2, I ST W F T 0=2 1<p<2m0<z<5m WIS
mgﬁr%ﬁﬂrﬂ‘@ﬂﬁ(mwm

Ans K1 1.50 Wb
2 3.75 Wb
X3 425 Wb
X4 275 Wb

Question ID : 2752289761
Status : Answered
Chosen Option : 4

¥ wifEr Ao Fehdl TR A1) 21
X0 gum 3R st

X2 gaa Ar sEmadt
v 5 gag Al aradt
X 4 qaeR AT Tadt

Question ID : 2752289811
Status : Not Answered
Chosen Option : --

Q.34 v gesoT ST Fowe ST W TS e gENT aeiEr an & fge e et & e

7 gIet?
K
(RO = e v 6
Ans ¢ g 2
2 4
X3 3
x40

Question ID : 2752289798
Status : Not Answered
Chosen Option : --




Q35 37 Fua 1 TUH FL A FRAT F THT FF T 90 IR A8 Far T
X0 o afem it F @ gar B
X2 7g 77 @ (BT asw) 30 L 2l

X3 g AT AF 3T =T gl
o 4

TR F TR AT TF THFER TS AT BETE g4 2

Question ID : 2752289790
Status : Answered
Chosen Option : 1

0% ot sifyEt ¥ wfRd U F W % & g B

A1 0.70 3R 0.85
X2 0.35 3T 055
<3040 3R 0.65
X4 0.55 3T 0.85

Question ID : 2752289782
Status : Answered
Chosen Option : 4

Q.37 Fag gis & TF T NARE S AT VT A SEF FT . @W_ aF
e ®T I 81

Ans o1 = jt; U

v 2 Jo; 0T
X3 - jt: smaa
X4 - jo; Reraa

Question ID : 2752289814
Status : Not Answered
Chosen Option : --




Q38 ey Rw wrv @R F AU T HHa Y SHE WWOT Goat F T FH TFT HL
x(t)

A 1
| 0 1 2 L] 4

(]

Ans X 1.
X(t) = ut — 1) + 2u(t) —ult + 1) —ult + 2) —ult + 3)

v2 x(t) = u(t +1) + 2u(t) —u(t —1) —u(t — 2) —u(t -3)

X 3.
X(®) = —u(t — 1) — 2u@®) + ut + 1) + u(t + 2) + u(t + 3)

X 4
x(t) = —u(t +1) = 2u(t) + u(t 1) + ult — 2) + u(t -3)

Question ID : 2752289817
Status : Not Answered

Chosen Option : --

P Crafafa & ¥ 97 deoa & Hedita H UH W07 AE 87
e v Rt
X2 g

X3 Ems
X 4 Forge

Question ID : 2752289813
Status : Not Answered

Chosen Option : --

Q.40 gxyr gaT F & wFar hit) 3T x(t) F , Fafer 9% F 39%F FT, H(jo) 3R X(jo) ¥

¥ FHEGEY B B

A +
® v HEeE, O

X 2. Heels, Hehold
X 3. UEhTHIOT, HIholed
X 4. T[0T, Hepolet

Question ID : 2752289812
Status : Not Answered

Chosen Option : --




Q.41 N
X(s) =25+ r SiRT A 21
[s(s2+1)}

Ans 1.
X2 6
X 3. fenfyg g7 &Far o "=t g
4 24

Question ID : 2752289816
Status : Not Answered
Chosen Option : --

Q.42 v geaefer ST (SYET) F 40 MVA, 14.6 kv 3T 50 Hz = Treifim fmr mm 31 9 (F)
#r ey gieETer gt

Ans «1.533 0
X2 629 Q
X3 357 Q
X4 725 Q

Question ID : 2752289785
Status : Not Answered
Chosen Option : --

% o FuT FT TaT =

Ans o 1.
Uy Hig giaafast & forw, Aot aiees @7 3EH AR e wion, Ay F e fRufagt gv B g #

X 2.
FAEr F FioEtast Ht #iEeeT ger far e § it 3 g s (Tt Rasde) # e

g & e Teer @
X 3.
DC-¥-AC aRade®! # TAda: 2-%= &g (=) #ar 21

X4 VS| @ PWM & o foafa &7 ar o1 gehar 2l

Question ID : 2752289780
Status : Not Answered
Chosen Option : --




Q.44 2035 Frw wafew (AEEEEW) & B 3w Feaw 3, wFE e (s7E) sa & Zamr
AR fFar & §

e X0 R 35
<2 e 7
v R 5
X4 R 30

Question ID : 2752289772
Status : Answered
Chosen Option : 2

Q.45 Thd-thel A3 # & Tee & S mEe Reaw r # i e & oS gueesr 0 2
T EA A Ol gy sE oers (wF/km) 2rfri

Ans &

Question ID : 2752289784
Status : Not Answered
Chosen Option : --

W CrafafRe § ¥ w7 EE-Eaee # 32EI0T &7
A X w0 S

v 2 seg TReoT

X3 AM ¥R T

X 4 SOl JaUeH

Question ID : 2752289809
Status : Not Answered
Chosen Option : --




Q.47 uw ved TEET FE B-geaA-3THaE JUTST H Tear 25 kN/m, Fe3A 0.1 kg T 3adeA
7[uTeR 40 N-sim #r T & &1 Jomelt &1 sEses e GEull

Ans X1.0.32
X2 05
3 04
x4 0.64

Question ID : 2752289795
Status : Not Answered
Chosen Option : --

Q.48 f=m r 3y g | ITET US WET SRR T THATT | $ O 6T # @T § 7 By feeeew v o
g, ar ar &1 gag 9T el @i (Pointing Vector) grm

Ans Vl
g P,
2mrl

Vi

TIr21

X 2.

Vi
21 + 2ml
Vi
- 2mr?l

K3

K 4

Question ID : 2752289763
Status : Not Answered
Chosen Option : --

0 Trafafee & ¥ #i7 @, DC ST (M) & 997 a9 & 4 A 2
Ans o 1.
Tg AHaE (FoFw) F T Re 9fased (reluctance) 9 9e1F FHIaT 2l

X 2
7g DC I (IeR) # 43 SR Se0et Johia 3ag (FFd) FT T T gl

X3
g 90 7 & T geaT H=oE (FW) F T A FH A ¢

X 4
7g DC I (Fe) 7 &7 & v 71w 39aes 9= &4 gl

Question ID : 2752289802
Status : Answered
Chosen Option: 4




Q.50 3 mm % g 3awE F 0.88 T & #fEEE (FoFd) Ooed 30T S & 0 HEREE MMF &3 gem?

Ans k1. 4790 A
+ 2. 5600 A
X3.7040 A
X4 6788 A

Question ID : 2752289759
Status : Not Answered
Chosen Option : --

Q.51

TH HET IAE F AT, e o grer Z|

Ans ?<1.ﬁ ﬁ
<20
K3 2
41

Question ID : 2752289774
Status : Answered
Chosen Option : 4

2 e T v 9wy 3@ ¥ BEEE & yHR A9 F:1

1/C:s R,
. e
=1 AN : }——aﬂq

Ans

Question ID : 2752289797
Status : Not Answered
Chosen Option : --




53 oo frureRs T @ # TS 2 aSREEd v T
Ans ® 1. .F;I'E'ﬁ'

X3 Aufr ik gATER =t
v 4 gfemAraT

Question ID : 2752289778
Status : Answered
Chosen Option : 2

¥ e PrTeE (o) F Tet F T FuA F T9T F
v o TwurE, agfes ¥ @y e w9 @ wear @
X2 %t forure, segfea & @y @w §9 8 gear g

X 3

% e, 3gfes & Ty TuTaET §9 § Uedl §

X 4

% Fre, ¥Efed F Ty TREdE §9 § 9247 §

Question ID : 2752289777
Status : Answered
Chosen Option : 3

Q.55 fifzg ofy sEwet & o= & v GafefEg & @ #7 9y Fua 7w 827
A. % 30T & aET R off g IR () F F g IR e (Feww) & aiEed e
& @AY 9 g =@TRT
B. 8T WAY 3aTF % X Fof WAL Gadl e g @ §
C.ofTy & T TAT ATEH (FEEEheR) REgadehm o & T e § 9 w wmew
g =T

Ans X1 Faer B
X2 B AR C =t
X3 haer C
v 4 fau T fawedt # & FI1E FE

Question ID : 2752289766
Status : Answered
Chosen Option : 2




% ym)=1(xInl+xn—1]+xn+2) TU R MW wOIH Bl

e X afee ik FRTeEE
X2 wifge HR R-FRoTHEF
X3 wifgs AR FRvTeAS
v 4 Tfdes HR IR-FRUTHS

Question ID : 2752289810
Status : Answered
Chosen Option: 3

57 DT oos ¥ BT o w8y 9T & 3RS 59 597 2

Y = o
(s+1+j)G+1-j)
Ans X105
X2 4
<31
42

Question ID : 2752289801
Status : Not Answered
Chosen Option : --

3 o T 98 & R Jcary. S9ET 719 F: T

y(t) = —2te ™t + 47t — 4%t
" x 1. 2 +
(s+1)2 (s+1)
) 2s
(s—1)2(s+2)
<3 - -
(s+1)%2 (s+1)

, 25
Vi Er G

+ 4(s+ 2)

X

+4(s+ 2)

Question ID : 2752289793
Status : Not Answered
Chosen Option : --




Q.59 11 k o vRaet siedtuw $ Wwar 0.12% & 3k F9F s Hr 7 325° F W AAFTOF 15V F
&% e & wry ReEArd (TERREE) & w9 F s B S 31 5eEaA e 31 (mv )
T g

Ans  X1.1.6
X215
v3 1.8
x4 08

Question ID : 2752289765
Status : Not Answered
Chosen Option : --

Q.60 7 vw FHT 98T Toha @ 560F BN o F ofEfa e e &, & e & @ =

| Z=Ar
1. afEa

SRVt B
X 2 el |

X3 RUw 7T RFedr § § #1238
X4 et |

Question ID : 2752289818
Status : Answered
Chosen Option : 1
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